Fs e A
teahntque (A) Kaziranga National Park
cur ng arganlsms (B) Sunderbans National Park
: (C) Nanda Devi and Valley of Flowers
National Parks

(D) Manas Wildlh‘xE
5. Theterm'‘ecos ' represents a group

aeduction

B o hanation of living or . non-living things

,- 3 Bio « K such asa% ter and soil, and their

vl mteraw the habitat in which they

L 21 Biodiversity refers to the number and liv trive. Who first coined the term

:partlcu!ar habitat. Which of the following
is one of the measures of biodiversity? S

(A) Ecosystem diversity .
(B) Species diversity \;E : (A)

(C) Genetic diversity \/
NV

(D) All of these
3. This plant when intre%%d in Lake ! Carl Linnaeus

: variety of organisms found within a %33 em?

Victoria from Rwandabe e aninvasive :
A& lake, diminishing

1 protected area of India was
List of World Hentaga







13.

14.

(A) Dian Fossey
(B) Birute Galdikas
(C) Joy Adamson
(D) Jane Godall

A river with high BOD value is

(A) Highly polluted

(B) Highly clean

(C)
(D)

Read the following statements cagefully.

1. Photochemical smog aj}waﬁsgomains
ozone. ‘

‘e
2. The toxic effect o@o’n monoxide
is due to its Oceater affinity for

haemodgl as compared to

oxygem,
3. Le e most hazardous metal

ant of automobile exhaust.
Which of the above statements is not

true?

(A) 1

(B) 2

(O3

(D) None of these

Highly productive
Highly conducive for pisciculture

Bittu Sahgal, an environmental activist
and writer, is the founding editor of a

- 16.

1

18.

wildiife and ecology magazine based in
India. Can you name this publication?
(A) Discovery

(B) Sanctuary Asia

(C) Planet Ecology

(D) Kids for Tigers

Which of the following problems led
to the opposition to the construction
of Tehri dam on the r' Ganga and
Sardar Sarovar préjectvon the river

Narmada’?
Submer ce of large areas
of a tural land and human

Bg’ﬁh%stﬁjctlon of large ecosystem and
Ness of biological diversity
Displacement of large number of
local population without adequate
rehabilitation

All of these

©

(D)

A major programme called ‘silviculture’
has been started to replenish the forests.
Which of the following is not an advantage
of this programme?

(A) It maintains a perfect water cycle
in nature.

(B) It prevents soil erosion.

(C) Its practice does not vary with
different terrains and soil types.

(D) It produces a large quantity of raw

materials for industry.

Soap and detergents are the source of
organic pollutants like

(A) Glycerol

(B) Polyphosphates

(C) Sulphonated hydrocarbons
(D) All of these.






